Part Number Part Description

02098 3x3mm Set Screws Machine Thread(8pcs)

02102 3mm Steel Nylon Insert Locknuts (6pcs)

14586 3x6mm Button Head Hex Machine Thread Screws (8pcs)
70127 2.5mm E-Clips (10pcs)

85825 3x10mm Countersunk Hex Machine Thread Screws (5pcs)
BS903-089 2x10mm Pins (12pcs)

RERM372 10x15x4mm Rubber Sealed Ball Bearings (6pcs)

RER11373 5x10x4mm Rubber Sealed Ball Bearings (6pcs)

RER11375 3x8mm Button Head Hex Machine Thread Screws (10pcs)
RER11383 3x8mm Countersunk Hex Machine Thread Screws (10pcs)
RER12697 3x12mm Button Head Hex Machine Thread Screws (6pcs)
RER12935 3x8mm Flat Head Hex Machine Thread Screws (6pcs)
RER14683 2.6x10mm Button Head Hex Machine Thread Screws (10pcs)
RER14921 Lower Deck(1pc)

RER14922 Upper Deck(1pc)

RER14923 Front Shock Tower(1pc)

RER14924 Rear Shock Tower(1pc)

RER14925 Toe Block Set w/ Inserts(1set)

RER14945 Suspension Arm Set(Plastic)(Iset)

RER14947 Suspension Pin Set(lIset)

RER14950 Front Bulkhead(1pc)

RER14952 Shock O-Rings(8pcs)

RER14955 Steering Plate(1pc)

RER14956 Servo Horn,Center Mount and Bridge(lIset)

RER14961 Front Knuckles and Hex(1pr)

RER14963 Front Axle Set(2pcs)

RER14965 Rear Hubs and Hex (1pr)

RER14967 Gearbox Housing(lset)

RER14974 Spur Gear Hub(1pc)

RER14976 Motor Mount(1pc)

RER14978 CVD Set(2pcs)

RER14981 1/6x9.7mm Pins(2pcs)

RER14985 Drift Tire Set(4pcs)

RER14986 Foam Set(4pcs)

RER14987 1/10 Wheel Set W/ Lug Caps(4pcs)

RER15000 Steel Plate and Magnet(lpr)

RER15003 Rear Diffuser and Front Splitter(1pr)

RER15004 Body Accessories(lIset)

RER15009 Turnbuckle Set (Steel)(1set)




Part Number

RER15012
RER15013
RER15014
RER15019
RER15023
RER15024
RER15029
RER15033
RER15036
RER15044
RER15045
RER15051

Part Description

Ball Cup Set(16pcs)

4.8x6mm Ball Stud(8pcs)

4.8x12mm Ball Stud(8pcs)

F/R Shocks Complete(4pcs)

4mm Nylon Locknut(Thin)(4pc)

Spring Set (4pcs)

Bumper and Body Post Set(lset)

Idler Gear Pins (2pcs)

Complete Differential W/ Idler Gears(lset)
88T Spur Gear (48P)(1pc)

26T Pinion Gear(48p)(1pc)

ESC Plate, Magnet Holder, Battery Holder(lIset)

Electronics & Body

RER15006
RER15007
RER15008
WP-10BL60-RTR
RCR-2CENR
28480
RER14934
RER14935
RER14933

540 3300kyv Brushless Motor (1pc)

GX-1Drift Gyro (Ipc)

Hexfly Drift Spec Coreless Digital Servo (1pc)

Hobbywing 60A Brushless Speed Controller (Sensorless) Splashproof (1pc)
Flysky RCR-2CE Radio (2.4Ghz)(1pc)

Receiver (Flysky FS-A3) (Compatible with RCR-2CENR Radio)(1pc)
Pre-painted Drift Body Kit (Orange)(1pc)

Pre-painted Drift Body Kit (Grey)(1pc)

Drift Clear Body Kit (1pc)




